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a) 3864 + 12 156 = e) 11527 + 14 143 =

b) 945 + 347 = f) 69345 + 51 600 =
¢) 7656 + 5 649 = ) 3099 +4 111 +2 345 =
d) 42 738 + 27 541 = h) 868 + 755 + 1 026 =

a) 6376 — 5934 = €) 31 962 — 30 983 =

b) 24 000 — 19 411 = f) 4444 —3 777 =

c) 463 — 254 = g) 17822 — 8345 — 4957 =
d) 97 615 — 89 726 = h) 7518 —3852—3582=
a) 96 -8 = d) 32847 = o) 14426 =

b) 634 -41 = e) 1519 = h) 5411 =

¢) 2753 = f) 37-82 = i) 68-72=

a) 1040 :26 = d) 1056:32 = g) 720: 11 =

b) 442: 13 = €) 21366:40=  h) 179442 :62 =
) 18333:21= ) 2200:43 = i) 243027:57 =
a)3-8—81:9=

b)17-2-8+64:2—-5-2=
c) 100 — (63 +9 — 56) =
d)36:(46—2-17)+ (54:3 —42:6) =
€) 8-(26+24) —480:3 =

f) 46 —8-3—6:2—4-(5—2) =

) 4+6-[47-2-3+8)—4-6]=
h)y5-11+9-[29-3-5—-2-(2+4)]=



a) 0,2;0,6;1,3;0,8; 1,6
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a) na jednotky

8,5 =
174,732 =

b) na desetiny

0,397 =
91,323 =

¢) na setiny
83,571 =
193,828 =

d) na tisiciny

7,732 1 =
48,816 9 =

a) 1,36

b) 0,513
c) 12,86
d) 245,752
e) 5010,93
f) 42,176 3
g) 9,13

h) 37,506
i) 0,134

1,42
0,511
18,86

24,39 =
1098,1 =

17,51 =
156,87 =

0,134 =
33,6213 =

20,819 34 =

134,773 52 =

245,763

501,93

42,176 4

9,09
37,560
0,143

0,568 =

22 836,06 =

27,976 4 =

4,397 =

36,7356 =
2051,4455 =

0,565 6 =

i) 24,06
k) 93,9

1) 0,004
m) 11,5

n) 6,66

0) 38

p) 169,07
q) 33,42

r) 4 815,94

12,121 4 =

25,06
93,09
0,007
11,52
6,36
38,01
169,70
33,24

4 815,934



